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Simple Interest Assignment

1) You invest $2000 at 3.5% interest over 6 years. How much do you have in total
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2) Natasha invests $25 000 for 6 months at 7%. How much interest has she made?
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3) Gordon takes a loan from the bank at 6% simple interest. He borrows $6000
and will end up paying back $2520 in interest. How long has it taken him to pay
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4) You invest $9000 at 8% and end up with $540. How many months was it
invested for? [7:?000 I=pPrt feo _ £
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5) Jennifer invests her inheritance of $180 000 at 5.5%. l{ %2 (q “ M

a) How much will she make in interest per year?
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b) How much wH‘(she make after 5 years? —
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¢) Would you spend the inheritance, or just spend the interest? Explain.
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6) You make $728 in simple interest over 4 years at 3.5%. How much was
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7) You win the lottery ($1 000 000) and invest it at 7.5% simple interest over 3
years in order to purchase a house.

a) If you are going to use the interest as a down payment, how much do you
have? T=ppt L =(1900009)(0.075)(3)

P= |oo0 000, T =*226 000 ™

Q_‘i 03.075’ )
b) The hoUse costs $600 000, and you use part of your winnings to pay off the

remaining balance after the down payment. How much money do you have left?
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¢) You then invest the remaining money at 6% simple interest over 10 years. How
much in total do you now have?
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